# **CUSTOM HOME COLLECTION-CORDLESS**



#### THANKS FOR CONSIDERING US.

#### WHAT'S NEXT:

- 1) View your estimate online\* to edit, purchase, or check the availability of professional installation services in your area.
- 2) We're here to make this easy for you. Contact our Design Consultants with any questions: 1-800-935-7124

ESTIMATE SUMMARY	
PRODUCTS (156)	\$11,129.04
SHIPPING	FREE
PRETAX TOTAL	\$11,129.04

<sup>\*</sup> If viewing as a printed estimate, access your estimate online by navigating to this link in your web browser: https://blinds.homedepot.com/estimatebuilder/load/cd0f252a-638c-46e5-b8cf-587d0c11646e

<sup>\*\*</sup> Prices subject to change.

<sup>\*\*\*</sup> Professional Installation requires professional measurement.

# **PRODUCT SUMMARY**

NOTE: Only the rooms and windows for which you've selected product will appear in your product summary. If you added blank rooms and windows, they're still waiting for you in your online estimate.

ROOM: ROOM 1									\$11,129.04
	WINDOW NAME	BRAND	PRODUCT NAME	WIDTH	HEIGHT	COLOR	ITEM PRICE	QUANTITY	TOTAL
		CUSTOM HOME COLLECTION	LIGHT FILTERING ROLLER SHADE	50 3/4"	48 1/2"	SPLENDOR WHITE SP01	\$71.34	50	\$3,567.00
	WINDOW 1	CUSTOM HOME COLLECTION	LIGHT FILTERING ROLLER SHADE	50 3/4"	48 1/2"	SPLENDOR WHITE SP01	\$71.34	50	\$3,567.00
	WINDOW 2	CUSTOM HOME COLLECTION	LIGHT FILTERING ROLLER SHADE	50 3/4"	48 1/2"	SPLENDOR WHITE SP01	\$71.34	50	\$3,567.00
	WINDOW 3	CUSTOM HOME COLLECTION	LIGHT FILTERING ROLLER SHADE	50 3/4"	48 1/2"	SPLENDOR WHITE SP01	\$71.34	6	\$428.04

Date Printed: 06/25/2025

ROOM: ROOM 1									
	WINDOW NAME	BRAND	PRODUCT NAME	WIDTH	HEIGHT	COLOR	ITEM PRICE	QUANTITY	TOTAL
		CUSTOM HOME COLLECTION	LIGHT FILTERING ROLLER SHADE	50 3/4"	48 1/2"	SPLENDOR WHITE SP01	\$71.34	50	\$3,567.00

OPTIONS	SELECTION	ADDITIONAL PRICE
GUARANTEED TO FIT!	YES	
WINDOW NAME		
WIDTH	50 3/4"	
HEIGHT	48 1/2"	
MOUNT	INSIDE MOUNT	
COLOR	SPLENDOR WHITE SP01	
LIFT CONTROL	CORDLESS	
FABRIC ROLL DIRECTION	REVERSE ROLL (FROM FRONT OF ROLL)	
VALANCE	NO VALANCE	
BOTTOM RAIL	HEAT SEALED ALUMINUM	
REMAKE	NO	
CHILD SAFETY WARNING	YES	

ROOM: ROOM 1									
	WINDOW NAME	BRAND	PRODUCT NAME	WIDTH	HEIGHT	COLOR	ITEM PRICE	QUANTITY	TOTAL
	WINDOW 1	CUSTOM HOME COLLECTION	LIGHT FILTERING ROLLER SHADE	50 3/4"	48 1/2"	SPLENDOR WHITE SP01	\$71.34	50	\$3,567.00

WINDOW 1 OPTIONS	SELECTION	ADDITIONAL PRICE
GUARANTEED TO FIT!	YES	
WINDOW NAME	WINDOW 1	
WIDTH	50 3/4"	
HEIGHT	48 1/2"	
MOUNT	INSIDE MOUNT	
COLOR	SPLENDOR WHITE SP01	
LIFT CONTROL	CORDLESS	
FABRIC ROLL DIRECTION	REVERSE ROLL (FROM FRONT OF ROLL)	
VALANCE	NO VALANCE	
BOTTOM RAIL	HEAT SEALED ALUMINUM	
REMAKE	NO	
CHILD SAFETY WARNING	YES	

ROOM: ROOM 1									
	WINDOW NAME	BRAND	PRODUCT NAME	WIDTH	HEIGHT	COLOR	ITEM PRICE	QUANTITY	TOTAL
	WINDOW 2	CUSTOM HOME COLLECTION	LIGHT FILTERING ROLLER SHADE	50 3/4"	48 1/2"	SPLENDOR WHITE SP01	\$71.34	50	\$3,567.00

WINDOW 2 OPTIONS	SELECTION	ADDITIONAL PRICE
GUARANTEED TO FIT!	YES	
WINDOW NAME	WINDOW 2	
WIDTH	50 3/4"	
HEIGHT	48 1/2"	
MOUNT	INSIDE MOUNT	
COLOR	SPLENDOR WHITE SP01	
LIFT CONTROL	CORDLESS	
FABRIC ROLL DIRECTION	REVERSE ROLL (FROM FRONT OF ROLL)	
VALANCE	NO VALANCE	
BOTTOM RAIL	HEAT SEALED ALUMINUM	
REMAKE	NO	
CHILD SAFETY WARNING	YES	

ROOM: ROOM 1									
	WINDOW NAME	BRAND	PRODUCT NAME	WIDTH	HEIGHT	COLOR	ITEM PRICE	QUANTITY	TOTAL
	WINDOW 3	CUSTOM HOME COLLECTION	LIGHT FILTERING ROLLER SHADE	50 3/4"	48 1/2"	SPLENDOR WHITE SP01	\$71.34	6	\$428.04

WINDOW 3 OPTIONS	SELECTION	ADDITIONAL PRICE
GUARANTEED TO FIT!	YES	
WINDOW NAME	WINDOW 3	
WIDTH	50 3/4"	
HEIGHT	48 1/2"	
MOUNT	INSIDE MOUNT	
COLOR	SPLENDOR WHITE SP01	
LIFT CONTROL	CORDLESS	
FABRIC ROLL DIRECTION	REVERSE ROLL (FROM FRONT OF ROLL)	
VALANCE	NO VALANCE	
BOTTOM RAIL	HEAT SEALED ALUMINUM	
REMAKE	NO	
CHILD SAFETY WARNING	YES	